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�¥� ý�Â÷� .´¨� ý� �Ø±ª ß�� ö�ØõM ø ý� �Ø±ª ö�Øõ N Ûõ�ª Ûõ�î ¤�Ü� ×þ (1�î üõ�Ú�û , ´¨� � ý� �Ø±ª ß�� ý�û ö�Øõ �� �Ø±ª ¥� Ý�� ×þ ö¢Âî �¹��� ý�Â�. Àª��M ø N¥� ÂµÞî, n , ùÀª �� ���� ý�úÞ�� ¢�Àã�?´ª�¢Â� �Ø±ª ö�Øõ N¥� �¤ Ý�� n ö��� üõ ÕþÂÏ À�� �� ( Óó�?¢�¢ ¤�Âì ý� �Ø±ª ß�� ö�ØõM¤¢ �¤ Ý�� n ö��� üõ ÕþÂÏ À�� �� ( �ý�Â÷� ¥� üã��� �¤�¬ �� �¤ ü�øÂµ÷� ,×�÷�÷�îøÂØ�õ Û±õ��÷� ¥� ù¢�Ôµ¨� �� ( �.À��î ß��ã� �¤ �õ¢ ø À��î �±¨�½õ ,E,ÛîÂþ¥ �¤�¬ �� T ý�õ¢ ¤¢ n ùÀª �� �� �� ý�úÞ�� ¢�Àã� Í¨�µõ À�û¢ ö�È÷ ( ¢.Àþ¤ø� ´¨À� � << KT ø � >> KT ý�Â� �¤ n .´¨�n2(N � n)(M � n) = e(��=KT ) (1)ñ�Ï �� ö�ÆØþ ÂÊ�ä N Ûõ�ª ´¨� ùÀª ´��� Çþ�úµ÷� ¥� �î ýÀã� ×þ �µª¤ ×þ (2ÛØª ¤¢ �î ¤�Î÷�Þû) Àª�� üõ �� ¤¢ 180 �þ 0 üó��µõ Â¬��ä ß�� �þø�¥ .´¨� a.¢¤�À÷ ¢��ø ßØÞõ ´ó�� ø¢ ßþ� ý�úþ�Â÷� ß�� ü�ø�Ô� º�û .( ´¨� ùÀª ù¢�¢ ö�È÷ø N+À��î­Âê .ÝþÂ�Ú� ÂÑ÷ ¤¢ üÔ�õ �þ ´±·õ ´ú� ¤¢ �¤ ÂÊ�ä Âû Ý�÷��� üõ �õ: Ýþ¤�¢. ´¨� �µª¤ Ûî ñ�Ï L ø ´¨� üÔ�õ ø ´±·õ Â¬��ä ¢�Àã� N�N = N+ +N� (2)L = a(N+ �N�) (3)1



�õ� ¢¤�À ÷ üÚµÆ� L �� üÜ¡�¢ ý�Â÷� �î ´¨� ö� ñÀõ ßþ� °ó�� ´�¬�¡ ×þ:¢�ª üõ ÓþÂã� Âþ¥ �¤�¬ �� �î ¢¤�¢ ¢��ø � ÇÈîdU = TdS + �dL (4)Àû��¡ üõ �µª¤ ý�úµ÷� �î Àþ� üõ ´¨À� ´Ö�Ö� ßþ� ¥� ø ´¨� ý¤�õ� �¹�µ÷ ßþ�.Àª�� ¢�¥� �÷�Þ÷ ¥�ê ý�Ìê ¤¢

:À��î �±¨�½õ �¤ Âþ¥ ý�û ´�Þî.N+ ø N ¥� üã��� �¤�¬ �� �¤ ü�øÂµ÷� ( Óó�.N+ ø N ¥� üã��� �¤�¬ �� �¤ ¢�¥� ý�Â÷�( �.L ø N ø T ¥� üã��� �¤�¬ �� �¤ � ÇÈî ( ��� ö� ý�úµ÷� .´¨� ö��þø� ÓÖ¨ ¥� a ýø�Æõ ñ�Ï �� �ãÎì N Ûõ�ª �µª¤ ×þ (3ø¢ ¤¢ À÷�� � üõ �ãÎì Âû . ´¨� ÛÊµõ Ç÷�Âð ýøÂ�÷ ´½� m �Â� �� üÞÆ�.Àª��( ÛØª �� ���� ��) ß�þ�� ø ��� ´ó��
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: ´¨� Âþ¥ �¤�¬ �� T ý�õ¢ ¤¢ ©¤�� â��� À�û¢ ö�È÷ ( Óó�QN = (1+ e�mgakT ) (5).Àþ¤ø� ´¨À� �¤ �µª¤ ü�øÂµ÷� ( �.À��î ß��ã� �¤ �µª¤ ñ�Ï ø À����� �¤ üÜ¡�¢ ý�Â÷� ( ��±¨��µõ �µª¤ ý�úµ÷� �Â� ,À�î üõ ýøÂ�� í�û ö�÷�ì ¥� �µª¤ ßþ� À�û¢ ö�È÷ ( ¢.À����� �¤ °¨��� °þÂ® .¢�ª üõ ö� ñ�Ï Çþ��ê� °��õN Ûõ�ª DNA ßþ� .´¨� ²þ¥ ×þ ö¢Âî ¥�� À�÷�õ DNA ñ�Øó�õ ×þ ö¢Âî ¥�� (4� ý�Â÷� �� ¥�� ø ÂÔ¬ ý�Â÷� �� �µÆ� ´ó�� ø¢ ¥� üØþ¤¢ ��Àî Âû �î .´¨� À÷���´Þ¨ ý�ûÀ÷��� ��Þ� �î ¢�ª ¥�� À÷��� üõ üµó�� ¤¢ �ú�� À÷��� ×þ .Àª�� À÷��� üõ.À�ª�� ¥�� ö� ²�

.´¨� Âþ¥ �¤�¬ �� DNA ñ�Øó�õ ©¤�� â��� À�û¢ ö�È÷ ( Óó�QN = 1� e�(N+1)�=kT1� e��=kT (6).Àþ¤ø� ´¨À� KT << � ß�þ�� ý�û�õ¢ À� ¤¢ �¤ ¥�� ý�û À÷��� ¢�Àã� Í¨�µõ ( �ÂÑ÷ ¤¢ �¤ ÛÆä ýøÀ�î ÛØª �� ß�Âî Ý�� N Ûõ�ª ýÀã� ø¢ ´�ê�Âð ×þ ¥� üµÞÆì (5ø �µª�¢Â� �Ø±ª ý�ú¨�¤ ¥� �¤ ß�Âî Ý�� ×þ�� ´¨� �¥� �ý�Â÷� À��î­Âê.ÀþÂ�Ú�. Àþ� ´¨À� �Ø±ª ö��õ ×þ ø üó�¡ ý�� ×þ �� Ý�û¢ ¤�Âì �ú�ãÜ® Çª  �¢
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.¢¤�¢ ¢��ø �û �Ø±ª ö��õ ý�Â� ßØÞõ ´ó�� N=2 À�û¢ ö�È÷ ( Óó�

Â Ñ ÷ ¤¢ E Û î ý�Â ÷� ¤¢�¤ Ý µ Æ � ¨ ß þ� ¥� × � ÷� ÷� îøÂ Ø � õ Û ± õ�� ÷� × þ ( �.À����� ï¤�� ý�û Mø�û N ¤¢ �¤ ü�øÂµ÷� �Ø±ª ö��õM ý�Â�.ÀþÂ�Ú�¥� üã��� �¤�¬ �� �¤ ý�Â÷�ø À��î ÓþÂã� T�1 = �S=�E �¤�¬ �� �¤ �õ¢ ( �.Àþ¤ø� ´¨À� T �!1 ø T �! 0 À� ø¢ ¤¢ �õ¢
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